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PART I: ACCESS TO INFORMATION FROM WRITTEN TEXTS (70 points)
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Read the text below and then answer questions 1-7.
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THE QUEEN OF HIKERS
I Heather Anderson has hiked America's longest A\
trails three times. Since 2013, she has covered 45,000
km. But Heather didn't begin hiking with such an
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most famous hikers to walk the American trails.
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Answer questions 1-7 in English according to the article. In questions 1, 3,4 and 5, circle the

number of the correct answer. In the other questions, follow the instructions.

1. What do we learn about Heather Anderson in paragraph 1?

i) What her longest trail was.

ii)  What distance she has hiked since 2013.
iii) Why she has hiked the longest trail three times.
iv)  Why she chose to go hiking.

(8 points)

2.  Why did Heather decide to start hiking? Give TWO reasons. (paragraph II)
ey

(2x9=18 points)

3. What is so unusual about the record Heather set on the Pacific Crest Trail in 20137 (paragraph III)

i)  No other woman had ever walked this trail.

ii)  She walked the trail in only 54 days.
iii) The pain in her leg made her walk more slowly.
iv) She did better than the men.
(8 points)
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PART I: ACCESS TO INFORMATION FROM WRITTEN TEXTS (70 points)
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Read the article below and then answer questions 1-6.

FIGHTING FOOD WASTE

I Supermarkets in Helsinki, Finland, are trying to
reduce food waste. Every day, many food products, like
chicken, fish and milk, go on sale very cheaply at all
the supermarkets in the city. This is because it is the last
5 day they can be sold. The prices of these products are

reduced even more in the evening to attract customers.

Unfortunately, hundreds of items may still not be sold

by midnight. These items will be thrown away because ~ Food Waste, USEPA

.. . F Wikimedia C
it is their last sale date. S SRR S

0 I According to a recent United Nations report, about one-third of the food produced in the world —
1.3 billion tons — is wasted. The value of this wasted food is nearly 680 billion US dollars. This huge
cost has a negative effect on the economy. In addition, scientists say that this terrible waste of food also
contributes to climate change. Many people are becoming aware that by reducing food waste they can

help the planet.

15 III  In Denmark, saving food has become a cultural movement. Its leader, Selina Juul, immigrated
from Russia at the age of 13. She says, "I came from a country where people were afraid they wouldn't
have food on the table the next day. When I came to Denmark, I was shocked to see so much food.

Then I was shocked again when I saw how much food people wasted."

IV In 2008, Selina started a group called "Stop Wasting Food." She was interviewed about their work
20 on the radio and soon after, she was contacted by Anders Jensen, the owner of the largest supermarket
chain in Denmark. "Around that time," Jensen says, "we learned that every person in Denmark was
throwing out 63 kilos of food every year. I realized Selina was right." After the two met, Jensen's
supermarkets stopped giving discounts to customers who bought large quantities of food. Jensen did this
because he believed much of this food was lager thrown out. His new policy was immediately reported in

25 the media because it was the first time a store owner said, "It's O K. if we sell less."
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Answer questions 1-6 in English according to the article. In questions 1, 2 and 4, circle
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the number of the correct answer. In the other questions, follow the instructions.
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1. How are supermarkets in Helsinki trying to reduce food waste? (paragraph I)
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i)  They reduce prices after midnight.
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ii) They encourage customers to buy less:
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iii) They sell chicken, fish and milk after midnight.
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iv) They sell food items cheaply on their last sale date.
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(8 points)
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2. What do we learn from the United Nations report? (paragraph IT)
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i) Itis very expensive to produce food.
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ii) Aot of food is wasted in the world every year.

LA
=
\f.:

B
2,
AY

iii) More food is wasted in the United States than in other countries.
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iv)  One-third of the food in the world is produced in the United States.
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(8 points)
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Give TWO problems connected to the huge food waste, according to paragraph II.
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PART I: ACCESS TO INFORMATION FROM WRITTEN TEXTS (70 points)
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Read the text below and then answer questions 1-8.

THE BIKE MAYORS OF AMSTERDAM

I Lotta Crok of Amsterdam, Holland, is only
nine years old but she is the world's first "Junior
Bike Mayor." Bike Mayors are leaders who want to
improve conditions for bike riders in the different
5 cities they live in. They are part of an international

program to encourage more people to ride bikes.

II To encourage children to participate in this

program, Kate Boerma, Amsterdam's Bike Mayor,

Wikimedia Commons, ADBC Bikeshare,

organized a contest. She asked schoolchildren for
bike station, public domain

10 ideas to make bike riding safer. Lotta won, and so
Boerma decided to make her a Junior Bike Mayor. Lotta's idea was to add children’s bicycles to the
free bike-sharing stands all over Holland. Anyone can take a bicycle from one bike-stand and return
it to another somewhere else. "When my family goes on vacation, we always travel by train and then
take bikes at the train station," Lotta explains. "But because there aren't any children's bikes at the

15 stands, I have to ride on the back of my father’s bike. This is uncomfortable and dangerous."

IIT  Now, as Junior Bike Mayor, Lotta has more plans. First, she wants the city authorities to help
make bike-riding safer for children. For example, she is trying to convince the city to open a safe
bicycle park where children can learn how to ride a bike. In addition, she will visit schools and talk to

the children about the advantages of bike riding. This might encourage more children to use bikes.

20 IV In Amsterdam, the bike capital of the world, there are more bicycles than people. However,
many parents believe riding bikes is dangerous so they don't allow their children to ride them.
Instead, these children use buses. Later, when they are 16, they ride dangerous motor-bikes. The two
Bike Mayors want to convince parents that bike-riding is safe and healthy. They add that bicycles

don't cause pollution so riding them is also good for the environment.
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QUESTIONS (70 points)
Answer questions 1-8 in English according to the text. In questions 1, 3,4 and 7, circle the

>/
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number of the correct answer. In the other questions, follow the instructions.
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1. What do we learn in paragraph 1?7
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How many Bike Mayors there are in the world.
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When the Bike Mayor program began.
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iii) What Bike Mayors are trying to do.
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iv) How successful Bike Mayors are.

2,
<1
”,

,_,
-\—/
7

S

<,
\\
<=
LA
\
U
AY

(8 points)
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2. Why did Boerma organize a contest? (paragraph II)
COMPLETE THE SENTENCE.
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According to paragraph II, Lotta became Junior Bike Mayor after (—).
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i)  she got a children's bicycle
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iv) she organized a contest at school
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4. Why does Lotta ride on "the back of her father's bike"? (paragraph II)
i)  The station has no bikes for children.
ii)  She enjoys riding this way.
iii) Her father thinks it is safer.

iv) Her own bike is too small for her.

(9 points)
5. According to paragraph III, how can cities make bike riding safer?
ANSWER- ..ottt ettt et b e sttt b e e h e a bt et a e sa e nenre s .
(9 points)
6. How does Lotta want to convince children to use bikes? (paragraph III)
COMPLETE THE SENTENCE.
N TS o) B s T o OSSPSRt .
(9 points)
7. Some children travel by bus because (—). (paragraph IV)
i)  there are not enough children's bikes
i1) they don't like riding bikes
iii) they don't own a bike
iv) their parents think bike-riding is unsafe
(9 points)
8. In the opinion of the Bike Mayors, why is riding a bike good for children? (paragraph IV)
ANSWER- ..ottt ettt b et b e bt bt et b e e bbbt bt et e st sh et e b b .
(9 points)
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South Pacific Ocean attract divers and other tourists from around the
world. They come to see the amazing coral reefs and the many different

kinds of fish which live among them.

II

sea creatures. Some corals become very hard, like stones, and others stay

soft. When many of the different kinds of corals come together, coral reefs

The deep blue waters of the Red Sea, the Caribbean Sea and the

So, what are corals? They are actually various types of small living

PART I: WRITTEN RECEPTION (70 points)
(ACCESS TO INFORMATION FROM WRITTEN TEXTS)

(4,5 70) ;),5»3\‘,.@ :J?}Hg}.&ﬂ\
S halef J:J\ inkaall T)_E\

Read the text below and then answer questions 1-7.

DISAPPEARING CORALS

Olwsl sWl] Jl @3 Bidy5¢ 5 MYNIN DYDY NaN5 MDY 9T DYSN

(MTMPI 70) NIPIN PMIAN PYUNI PID
,PI95W YOPN DN RIP

INRY 7-1 MSRWN Y 1w

Photo by Jerry Reid, U.S.
Fish and Wildlife Service

are created. These fascinating reefs attract not only human divers but also twenty-five percent of the

world's different sea creatures. They live among the corals, where they are protected from danger.

11X

Today, the survival of the coral reefs is threatened for various reasons. One reason is that farms

and factories use chemicals which pollute the oceans and poison all sea-life, including the corals. Also,

ocean temperatures are rising because of climate change, which affects the corals as well. In addition,

building hotels near the coasts for the tourists, making souvenirs from corals and too much fishing are all

destroying the reefs. For example, Australia's Great Barrier Reef, which is about 2,300 km long, lost

half of its coral between 1986 and 2012.

v

The disappearance of the reefs creates other problems. Without the reefs, other sea-life will

disappear too. This will affect over 500 million people who depend on the corals and the sea-life among

them for food and jobs. If the source of food and jobs of so many people is lost, the result will be hunger,

poverty and serious political problems. Therefore, protecting the reefs is very important.

v

We can take action by trying to prevent pollution. For example, walking instead of driving and

using fewer chemicals will benefit the environment everywhere, including the corals. So, our choices can

preserve the coral reefs for ourselves and for future generations.
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IN/GNY 1IN
) N . . . . . .
‘;’/\‘15 Z \\;’/ Answer questions 1-7 in English according to the text. In questions 1 and §, circle the number of
b \7 ’l‘ “ [ \7 q
NN~ N . . .
Q73N =04l the correct answer. In the other questions, follow the instructions.
25\ 3
Vs )
K =i
QAR ' %
N 7y ) /’5\‘7\’\ 2 1. What do we learn in paragraph 17
/N N,
AN . . .
\,‘5 ('\’K;'-'l\’:ﬂ / i)  Why divers come to the South Pacific Ocean.
AN AAA B ) .
\:/\ (’,)“'-\:/,\‘ ii)  Which countries the tourists come from.
N7V
o b DAY BN “ee . . .
NS\ \\\:'ﬁ 1i1) What kinds of fish live in the Red Sea.
AT Y
\,\I /‘,l\'-l \,\I 4 iv) How people learn to dive near corals.
7Y\ \ vl 1) )
SN INELSN (9 points)
Ny \’/\r\l;
A
SYAVEPASY
LGNV
Q, 78\ l‘,’,‘\\/'/ 2.  What happens when different kinds of corals come close to each other? (paragraph II
AAYNAAAAA
SN INEES)Y
N N ANSWER: ...cocooeteetsaeeeesss e eess et :
QRGBS -
:/,\\/"7 =7 (9 points)
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N AN
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N, ,// I\ 41| 3. Why are sea creatures attracted to the corals? (paragraph II)
NNy ) 1N
VAV LY
A ANSWER:  .ovvrtteesseeesee e ssssees 158k :
VALY r\‘l, )
ST S (9 points)
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MANL 9 L] 4. How do some chemicals affect the corals? (paragraph 111
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S.  Why does the writer mention hotels in paragraph 11?7
i) They are popular with the tourists.
ii)  Building them puts the reefs in danger.
iii) They sell too many souvenirs.

iv) Climate change is affecting them.
(9 points)

6. PUT A v BY THE TWO CORRECT ANSWERS.
What do we understand from paragraphs III and IV?
....... i)  How the disappearance of corals can create poverty.
....... iil)  Why rising temperatures protect the Great Barrier Reef.
....... iii) Why the survival of corals is important.
....... iv) How many tourists visit the reefs every year.
....... v) In which countries hunger is a problem today.
....... vi) How political leaders are protecting the reefs.

(2x8=16 points)

7. Give ONE way everyone can help prevent pollution. (paragraph V)

ANSWER: oo e
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Read the text below and then answer questions 1-7.
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THE WHISTLING® LANGUAGE OF KUSKOY
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I High up in the mountains in the northern part of Turkey, about 400 people live in the village

7
AY)

i

L2
\\/ <
I
S
YN
~>

X4
M\

P d
Ly

of Kuskoy. Because of the high mountains, it is very difficult to get from one place to another, so the
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people of this area have a special language to send messages over large distances. They communicate by
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whistling in different ways. For example, this allows them to call for help, to invite people to a wedding ?\
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5 and even to tell jokes. Their language is called the Whistling Language. \
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I The Whistling Language has been passed on from parents
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popularity of cellphones, the language is in danger of extinction.

-7,

Also, many people leave the village and stop using the language.
10 The United Nations has declared the Kuskoy Whistling Language an
endangered language in need of protection.

III  In order to protect the language, the people of Kuskoy have
a "Whistling Language and Art Festival" in the village every year.

People who come to the festival take courses and listen to
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also started teaching the language in the local school. Kanir Bendek,
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who learned the language from her grandfather, also gives whistling
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language classes at the community center. "Knowing the language

Wooden houses at the foot of A
makes me feel connected to my family's traditions," she explains. a high mountain

20 "Teaching the language helps keep it alive. I also plan to teach it to my Photo by Eberhard Grossgasteiger '/\l:\
From Pexels, photo 4406282 O
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own children so it will be passed on to future generations."
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IV Some researchers claim that whistling languages were once the form of communication in many %
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places, before the use of spoken language. Around the world today there are still several communities in
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Mexico, Greece, and the Canary Islands, which use similar endangered whistling languages. Although
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QUESTIONS (70 points)

Answer questions 1-7 in English according to the text. In questions 1,5, 6 and 7, circle the number
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of the correct answer. In the other questions, follow the instructions.
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1. What do we learn about the people of Kuskoy in paragraph 1?
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1)  Why they need the Whistling Language.
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ii) How they get from place to place.
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iii) Why they like to live in the mountains.
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iv) How many different languages they know.
(8 points)
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2. Give ONE example of a situation where the people might communicate in the whistling language.
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(paragraph I)

ANSWER ettt et e e e bt e e et e e e bb e e e e t—e e e e abaee e e tbae e e aaaae e nbaaeeanraeeeanraeeeannees .
(8 points)
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Why do people today use the Whistling Language less often than in the past? Give ONE reason.
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How does the village help keep the Whistling Language alive? Give TWO ways. (paragraph III)
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(2) ettt e e e —— e e e e e eeitt——eaaeeeaatba—aaaaeaaatbaraaaaaeaaittaraaaeeaaatbaaaaaeeeartrbraaeeeaaaanes .
(2X9=18 points)
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(9 points)

(9 points)

(9 points)

Kanir Bendek wants to teach her children the Whistling Language (=) . (paragraph III)
i)  to make sure they can communicate with their grandfather
ii)  so they can teach the language at the community center
iii) to help it survive for future generations
iv) so they can participate in the "Whistling Language and Art Festival"
What do we learn about whistling languages in paragraph IV?
1)  What problem they have in common.
ii) Why they are used in other countries.
iii) How the communities saved their languages.
iv) How many people speak the languages.
What does the writer think about the future of whistling languages? (paragraph IV)
He thinks that (-) .
i) they will soon become extinct
ii) there is a good chance they will survive
iii) there is no need for them anymore
iv) they will be spoken in additional places
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Read the text below and then answer questions 1-7.
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I Tall buildings with bright lights at night are a magical sight. In fact, it is one of the attractions

\

of North America's big cities. However, few people are aware that those brightly lit buildings also
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have a dark side to them: they can be very dangerous for the millions of birds flying through those
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cities during migration season. \

5 II Twice a year, in spring and autumn, millions of
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birds fly through the skies of North America. In the
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spring they fly north and in the autumn they fly south.

Many of them are nocturnal birds, meaning they travel

-7,

at night. When they fly near buildings, the bright lights

10 in the windows often confuse them. They crash into the

walls or into the glass windows and get hurt. Other birds

lose their sense of direction and fly around in circles until ~ City lights at night ',\L\ 's!.\/’ ‘/\/’/\‘/\
Photo by Reynaldo Briganty ~\I,‘g',‘ ?:/

they get so tired that they fall to the ground. According to
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experts, as many as 100 million birds are harmed every
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the city of Chicago alone, thousands of birds are found
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injured or dead every day during the migration season. N =2

III  Chicago was one of the first cities to try to solve the problem with its "Lights Out" program. As ',\l\\
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reminded to turn off their lights before going to sleep. By taking these steps, they save on electricity
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v/ there are fewer dead or injured birds in Chicago. Other cities, like Toronto, have similar programs but
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they are managed by environmental groups alone, while in Chicago, the city authorities participate in
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v IV As Toronto environmentalist Michael Mesure points out, light pollution hurts not only birds but

Yy other wildlife too. It even prevents people who live in the city from being able to see the stars. So the
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"Lights Out" program may have benefits far beyond helping migrating birds.
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QUESTIONS (70 points)
Answer questions 1-7 in English according to the text. In questions 1, 4,5 and 7, circle
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the number of the correct answer. In the other questions, follow the instructions.
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1. What do we learn in paragraph 1?7
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i) Which North American cities have brightly lit buildings.
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i)  What problem brightly lit buildings can cause.
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iii) Which tall buildings have the brightest lights.

AL ~‘I< iv)  Why buildings with lights attract birds.
/"\\/\/: 5 A (8 points)
s

Why might people see millions of birds in the spring? (paragraphs I and II)
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ANSWER . oottt ettt et tee e e et e e e ettt —aeeeeeee et e —————aeeeeaeteaa———————————aatttttttt——————aaererrrrrr——_ .
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Flying near the brightly lit buildings at night confuses the birds. How do they get hurt as a result?
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Give TWO ways. (paragraph II)
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Chicago is mentioned in paragraph II because it (-).
i)  is one of the most attractive North American cities
ii)  has the brightest buildings in North America
iii) has lots of injured birds during migration season
iv) attracts more migrating birds than other cities
(9 points)
What is the advantage of the program for the people of Chicago? (paragraph III)
i) They can sleep better at night.
ii) Fewer birds are flying through the city.
iii) Building managers don't have to work hard.
iv) They save money by using less electricity.
(9 points)
In what way is Chicago's "Lights Out" program different from the programs used in other cities?
(paragraph III)
ANSWER L.ttt et ettt e e e e e ettt et b e e et e e ettt e bbb e e e e e e ettt bbb e e e e e eeeeeenans .
(9 points)
What can we understand from paragraph IV?
i) What other advantages the program might have.
i1)  Where city people can go to see stars.
iii) How light pollution hurts wildlife in Toronto.
iv) Where the "Lights Out" program is being used.
(9 points)
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PART I: WRITTEN RECEPTION (70 points)
(ACCESS TO INFORMATION FROM WRITTEN TEXTS)
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Read the text below and then answer questions 1-6.

KID OF THE YEAR

I Every December since 1927, the weekly magazine TIME has announced its choice for PERSON
OF THE YEAR. It chooses a person or a group of people that has had the most influence on the world
during that year. The PERSON OF THE YEAR doesn't get a prize. However, because TIME is a

popular and respected magazine, its choice always attracts much attention.

5 II  In 2019, TIME chose sixteen-year-old Greta Thunberg
from Sweden as PERSON OF THE YEAR. She was chosen
because of her activities to fight global warming. She inspired
student protests all over the world and convinced leaders to
become more involved in environmental issues. TIME realized
10 that young people today have power and influence through
their increased participation in social media such as Facebook
or Twitter. Like Greta Thunberg, many of these young people
use their abilities to make the world better. Therefore, TIME has
decided to choose a KID OF THE YEAR as well.
I5 TII TIME's choice for the 2020 KID OF THE YEAR was
Gitanjalie Rao, a sixteen-year-old scientist and inventor from Queen Elizabeth 11
Denver, Colorado. Rao uses her talents to improve people's PERSON OF THE YEAR for 1952.
lives. Among her inventions is a device which checks the quality TIME Magazine, Jan. 5, 1953
of water. This helps prevent disease in areas where there is no From Wikimedia Commons
20 clean water. In addition, she created a program which makes using social media safer for young
people. Although she is still a high-school student, Rao has also organized science workshops which
connect schools across the USA. In this way, entire classes can learn together or from each other.
IV TIME also wrote about five additional impressive kids, aged 10 to 16. These amazing
youngsters started organizations, designed toys for children with special needs and continue to make
25 sure that hundreds of hungry families get food. TIME chose to write about these inspiring kids not
only because of their abilities, but also because of their leadership and generous spirit.
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QUESTIONS (70 points)
Answer questions 1-6 in English according to the text. In questions 3 and 6, circle the
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number of the correct answer. In the other questions, follow the instructions.
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1. What do we learn in paragraph I?
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PUT A v BY THE TWO CORRECT ANSWERS.
....... 1)  Who the PERSON OF THE YEAR was in 1927.
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....... i1)  When TIME's choice is announced.
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Why someone might be chosen as the PERSON OF THE YEAR.
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Why TIME is such a popular magazine.
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....... v)  Where TIME magazine is published.
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....... vi) Why the PERSON OF THE YEAR gets no prize.
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(2x9=18 points)
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TIME chose Greta Thunberg as the person who had the most influence on the world in 2019.
SN 9}', Give ONE reason for TIME's choice. (paragraph II)

NG ) N ANSWER: .....oooooooeeeeoeo oo oo oo eeeoe oo ees oo s e :
(8 points)
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Why has TIME decided to choose a KID OF THE YEAR? (paragraph II)
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Young people are more powerful today.
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Many young people read the magazine.
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Young people participate in student protests.

"

Young people show more respect for others.
(8 points)
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4. How does Rao's invention make sure that people stay healthy? (paragraph III)

AINSWER ..ottt e et e et e e bt e e ta e et e e ta e e ebe e e beeetaeebaeetaeenrteenareenateas .
(9 points)

5. Give the TWO ways that Rao has helped young people. (paragraph III)

(1) oo s s s e s s ee e .

() USSR .
(2x9=18 points)

6. Why does the writer call the kids in paragraph IV "impressive"?
i)  They are all young scientists and inventors.
ii)  They send toys to hundreds of children.
iii) They use their abilities to make the world better.
iv) They inspire others to start non-profit orgnizations.

(9 points)
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PART I: WRITTEN RECEPTION (70 points) DAX
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Read the text below and then answer questions 1-6.
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SAVE OUR COFFEE
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I A cup of coffee is one of life's little pleasures. But whether you like
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to drink a cup of black coffee or prefer to add milk and sugar, be prepared!
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Very soon the price may go up and your favorite brand might not be

/’
\\
=\
7\;/
7
</
/’
\\
/N

available. Perhaps the quality won't be as good as before. Why might this
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5 happen? According to recent studies, the reason is climate change.
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II The effects of global warming are already felt by the owners of

L
/,

the small farms that grow 70% of the world's coffee trees. Scientists
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believe that if the average temperature continues to rise, by the year

~
O
s

7
-
=\
rd
oy
/,

2050 most of the land that is now used to grow coffee trees will no

10 longer be suitable. "There are very few regions in the world where coffee Cup of coffee A\

trees can grow," explains Professor Beth Sharp of Drake University. from Pexels 2067432 N \;;:;(/ /,,\|\\

. . . by Martha Dzedyshko COANANN )
"The coffee trees do well only in specific places that have the right 5‘/‘\]),\\?,/‘\\‘,1:

temperature — on mountains, for example. As the climate gets hotter, even in the mountains, the coffee ||NS2
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trees produce fewer of the red fruits which contain the coffee beans. And the quality of these beans is ||NV2 %

15 also decreasing." 72)

it is cooler. However, there is not enough land there for everyone to grow coffee trees, so many farmers }Q\w
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A
Z
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well in hotter weather. But this can take 10-20 years. In the meantime, a coffee tree which grows in ;\—4 -
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20 Sierra Leone, Africa, gives some hope. It is called Coffee Stenophylla. According to recent studies, this
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tree is less sensitive to changes in temperature. Most importantly, its beans produce a delicious cup of
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coffee. Coffee experts and coffee lovers are hopeful that Coffee Stenophylla will save the coffee industry. Vi
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QUESTIONS (70 points)

Answer questions 1-6 in English according to the text. In questions 1 and 3, circle the number of
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the correct answer. In the other questions, follow the instructions.

<
\
N
P d
AL ! 2YNO0Y NY
i
?\/‘}3\” <

s
o~
2
A
S
=
2
o~

1. What do we learn about coffee in paragraph 1?
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i)  Why coffee is such a pleasure to drink.
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How to prepare a cup of coffee.
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Which brand is the most popular.
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What may happen to it in the near future.
(7 points)
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Why does the writer say "be prepared" (line 2)? Give TWO reasons from paragraph I.
() ettt h bt h bt bt a bt b ettt b bt h ettt a bt n e .
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What will happen by the year 20507 (paragraph II)
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i)  The average temperature will stop rising.
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i)  Small farms will grow a different kind of coffee bean.
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iii) Less land will be available for growing coffee trees.
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iv) Small farms will grow 70% of the world's coffee.
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In what TWQO ways does the rise in the temperature affect the coffee beans? Give TWO answers.

TAKE YOUR ANSWERS FROM LINES 13-15.

Why don't all farmers move to where it is cooler? (paragraph III)

ANSWER: Lottt e e e et e e e e e e aaae e e e e e eans

(9 points)

What do we learn about Coffee Stenophylla? (paragraph III)

PUT A v BY THE TWO CORRECT ANSWERS.

67 my

Where it is grown.

How long it takes to develop.
What the beans look like.
Why it is a good solution.
Who did the studies on it.

How it got its name.
(2x7=14 points)
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Read the text below and then answer questions 1-9.
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FREE PUBLIC TRANSPORTATION IN FRANCE
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I In September 2018, the French city of Dunkirk made its public transportation free. Since then,
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the 200,000 residents of the city no longer have to pay to use any of the local buses. The idea of free
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travel has already been tried in several small towns in France, but Dunkirk is so far the largest city
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5 1 Dunkirk's mayor said that one reason for this step is to reduce
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pollution by encouraging the use of public buses instead of private
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cars. A year after free transportation began, researchers found that the
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number of bus passengers had increased by 65% on weekdays and
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by more than 100% during weekends. Almost half of the new bus
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10 users said they had stopped using their cars inside the city and 10%
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ot rid of their cars. "It is clearly very successful in Dunkirk," says Public tranSp(?rtamn ond \\—" VN Q2
g . y very >, Say busy street in Europe Q<7 VNSRS

Professor Lefévre, one of the researchers. "This proves that the idea by Oleg Magni N\

. . . . .. Pexels 1837595 <\~
of free public transportation might work in even larger cities, too." exen :I,\L\'\{;/, {’ \'I,“,\‘

IIT  However, not everyone agrees that major cities like Paris or Marseilles, for example, could [\ AN AYY.

15 successfully copy Dunkirk's free transportation model. Those against the idea claim that this model ||RvN-N %74

~
AN
Y

is more effective in a relatively small city which doesn't have many buses. Research shows that free |[f/My
transportation in Paris would lead to almost no increase in the number of bus passengers. There would :\"l‘
also be only a very small decrease in the use of cars. In major cities, free travel would also cost the ||R<2

government a great deal of money. N\

20 IV Supporters of free transportation everywhere argue that the climate crisis has made it more ||Ri}:
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important than ever to reduce the use of private cars. Since private cars are a major cause of pollution ;‘:a "
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and the levels of pollution in the big cities are dangerously high, free transportation is a public health
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issue as well. The supporters also claim that people have the right to free public transportation.

S
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V4

The government should pay for it just like it pays for schools, parks and playgrounds.

P \
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(A)

\

s
25V In the future, will everyone be able to travel for free in France? So far, French leaders have not \\"\,é\/TI‘\\"\“
made a decision. Hopefully, soon they will find a way to try free public transportation in more cities. (M \‘\‘/\/(/\\’,\l\\
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QUESTIONS (70 points)
Answer questions 1-9 in English according to the text. In questions 1, 3, 5 and 8, circle the
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number of the correct answer. In the other questions, follow the instructions.
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1. What do we learn in paragraph 1?
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i)  What change was made in Dunkirk in 2018.
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ii) Why free transportation is important.
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iii) Which is the largest city in France.
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iv)  When small towns tried free transportation.
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According to paragraph II, how might free transportation reduce pollution?
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ANSWER <ttt ettt e e e e e e e et e taa e aaeeeeee et e tat—aaeeeeeeeatat b e eeeaeetattbaaaaaeaeeeeeeeatnnnes .
(8 points)
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The research mentioned in paragraph II shows that in Dunkirk (-).
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most of the new bus users got rid of their cars
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iil) more people use the local buses than before
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half of the residents use private cars inside the city
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most people still travel by private cars during weekends
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4. What does Professor Lefevre think could happen following the success in Dunkirk?
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(paragraph II)
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ANSWER Lttt eee e e e e e e et et aa e aaeeeee et et b bt aaaeeeeeeetat b eaeeaeetattbaaaaeaeeetetertanns .
(8 points)
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Those who disagree with Professor Lefevre claim that free transportation (-). (paragraph III)

i)  will need more research
i)  will lead to an increase in the use of cars
iii) won't be effective in major cities

iv) won't save the passengers a lot of money

(8 points)

Why might the government be against the idea of free transportation in large cities? (paragraph III)

ANSWER: L.

How does the use of private cars affect public health? (paragraph I'V)

ANSWER: L.t

Supporters of free transportation claim that (—). (paragraph I'V)
1) free transportation is more important than playgrounds

ii)  the health issue is worse than the climate crisis

iii) the government encourages the use of private cars

iv) everybody has the right to free public transportation

What would the writer like the French leaders to decide? (paragraph V)

ANSWER: L.t

67 my

(8 points)

(8 points)

(8 points)

(8 points)

/7 Twyaqwnn/

T 2727}

N o %
NI
2o VAN
Voo V) N
UGN

. \//\_
220
R

wd
\\

2

e
%/

R

XYaW)

Z
x4
4]
LN
”

N
<
P2

7
-
=\

N

Y
A
M\
pd

\‘
/2%
4 \
/7N
S Y
N7 =,
\/\‘/\<I
S, -
Sy
275
P2

>g7 /‘
Sy
NS
P,
~
//,
]

>7,
/ TSN

N
.\\

~
<

.,,
N
N
YA
XY

§

-

»
-

~

G
ialao ) ol 6_9
NI~
/\~
N

7
ISV
< /
I\ (‘\
P>
I\
\

\
Y
-
N\

<

>
2 =
/\

RUY(
\”,

<\
1.
A
v
-

/
[

'/’
M\
P d
>
s/
"~ N\
Z
K
P

G
\

7777
N
ZAN

—y

N
WA
—//
%
N
/-\\

Z;
e
P4k
\/
2
N
S
Z
2,

',’ Cd
SR
777
/, ~
AN\
AAST
- P
A ~
AREAN

~
A

1y,
~

'//"
\
\Y
Ic
Y
24
N,
/.
\

:/’\‘/
/70N
i
<N
\\

AN
S

P d

7
Q77
Ny 4
I\/\/
23
72S
NZ;
Pl

=7
5
N~
==
7
-
Z
A\

~
N\

P
N/

.\

L% IITNRT AINOY RY
.
/




3 RO

ma 1NN NO SN NYTN
2022 ,2”9WN NP 1NN TN 72NN TIVN
016382 :)ORWN 190N

YN

) PONY
(MODULE C)
'N 109

MR

IOXMNYY 0DN3aN YN N

DP9 Y M PORYA :127YDD DDA NIRWD 13N al

mMPY 70 — RIPINIMIN - PYRIPID
mMMPY 30 — POV - Y PI
MTMPI 100 — 59N
TPOIRD DIRNN DY MPaN INNIY DPWIN 12 NPNZMNN INRIN DNDMNN THN :YIPWA IMN NY TN 2

PPN TIVNI MIPNAN PR DY INRD

SONR-DR NOY / DR NOYW-IDIR PNWOTYT NN D) wanNwind DIRYI “DwTN DYy’ DN
JPONNRD DIRNN DY MPon KW MR NYO INX N3N ¢¥Iindwi

:DITNYH MNND .
(795 DTYPHN MIMPNI) PORVD A MDWNN 23 IR DINOY e (1)
.7293 LY POVRI MDYN DI IR DN W (2)
AMIWNY IR MWD PORWN DX PINNY v 11N DNl (3)

.1»NaN NIINNS DINK DT ‘]’U1ﬂ‘7 PR.ADYD DT D°97NND N1IPNIN PO 29 Y

SYON 19IND )70y 25WND T05N D N5 DI DY 1529 by X ,0°39 PYHI MNDIN DT PINYI MONVUD
1NbsNa

/972 92yn quwnn/



'NDD7,016382’0D10 ,2”79WN VP TPYMN

Read the text below and then answer questions 1-8.

I

(Global Positioning System) to find their way from
one place to another. Taxis and buses have used GPS
for several years. Today, most new cars have GPS

5 butif your car doesn't have it, you can buy it in many

stores.

IT

prepare carefully before going to a new place. They
had to ask someone to tell them the best way to

10 get there, or use a map to plan the trip. In addition,

PART I: WRITTEN RECEPTION (70 points)
(ACCESS TO INFORMATION FROM WRITTEN TEXTS)

(3,570 s 3 iadl ggd 1 J3Y1 Juad)
BT ael ¥ e Bl Y1y (o Solal ) Aaladll 3613 o

DRIVING WITH GPS

Olwsl sWl] Jl @3 Biy5¢ 5 NN DY KaNY MDY 9T NWS

(MMPI70) NIPIN M PYUNI PIO
8—1 MYRwN Sy MY, 0390w YOPN IR XIPH W

Millions of people all over the world use GPS

Before GPS was available, drivers needed to

GPS in a car

From Pixabay.com

while they were driving, they had to pay attention to street names and landmarks, like buildings.

Today, however, when someone wants to go somewhere, they just enter the name or address of the

place into the GPS. Then, by simply following the directions, they arrive there easily.

111

However, some people claim that using this technology might have a negative effect on our

15 memory. Dr. Sharon Davis of Pittsmouth University is studying the effects of GPS on the memory of

drivers who use it frequently. In her first experiment, she sent 35 drivers without GPS to a place they had

never been to before. When they returned, she asked them questions about their trip and 28 of the drivers

were able to report many details. They remembered interesting landmarks they saw along the way, such

as a popular restaurant and a beautiful park. Then Dr. Davis sent the drivers to a second new place.

20 This time they had to use GPS. When they returned, she again asked them to report details of their trip.

The result was that most of them remembered very few details from the second trip.

IV Does GPS really affect our memory? After this experiment, Dr. Davis does not know yet. "But,"

she says, "one thing is clear: drivers who use GPS pay less attention to the things around them while

they are driving so they remember much less as well." Dr. Davis is planning more studies to find out

25 if there is a connection between using GPS and the memory of drivers.
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QUESTIONS (70 points)

Answer questions 1-8 in English according to the text. In questions 1, 4, 7 and 8, circle

/
1<
S

A
7
'~

o
=
N\
.

ema\'2 o~ 2\
'4
l<

DY IR AINOYL RY
<
~,

oy
(/
2\
ANy

\‘
&

the number of the correct answer. In the other questions, follow the instructions.
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1. What do we learn about GPS in paragraph I?
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Why people use it.
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X Who gave it its name.
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Why buses used it first.

Which stores sell it.
% (7 points)
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Before drivers had GPS, what did they have to do in order to get ready for a trip? Give TWQO things
they had to do. (paragraph II)

Before drivers had GPS, what did they have to do while they were driving? (paragraph II)

AN SWER . oottt e e e e et et et au e eaaeeeeee et tat b aaeeeeeeetattb—aaeeaeetettaaaaaaaaeeetertrrnnaaaeaaaaaees .
(8 points)

What does Dr. Sharon Davis want to find out? (paragraph III)
i)  Why people think using GPS is difficult.

ii)  Whether using GPS affects a driver's memory.
Why some people prefer to use GPS.

‘Which landmarks GPS drivers remember.
(8 points)
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S.  Which TWO landmarks did the drivers remember from their trip without GPS? (paragraph III)
(1) e e e e
() e s
(2x4=8 points)
6. How were the results of the second trip different from the results of the first trip?
COMPLETE THE SENTENCE ACCORDING TO PARAGRAPH III.
After the second trip, the ATIVETS ......cooiiiiiiiiiie ettt et e s e s n .
(8 points)
7. What did Dr. Davis learn from her study? (paragraph IV)
i) Using GPS has a negative effect on our memory.
ii)  Using GPS is not always easy for drivers.
iii) GPS users don't remember many details from their trips.
iv) GPS users plan their trips carefully.
(8 points)
8.  What does Dr. Davis plan to do in the future? (paragraph IV)
She plans (-).
i)  to learn how drivers use maps
ii)  to improve the way GPS is used
iii) to help drivers improve their memory
iv) to study more about GPS and memory
(7 points)
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PART I: WRITTEN RECEPTION (70 points)
(ACCESS TO INFORMATION FROM WRITTEN TEXTS)

(i=,370) ;j)&d\r@ :JEQ\M\
T-18elY) o Ve Ty (o SGled 2l dnadl) 17 31
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Read the text below and then answer questions 1-7.

THE DEEP TIME PROJECT

I Can you imagine living in a cave deep under the ground

for 40 days, without any communication with the outside
world? That's exactly what 15 people in France did. They
volunteered to participate in a scientific experiment called the
5 Deep Time Project. There wasn't any natural light from the sun,
moon or stars in the cave. In addition, the participants had no

watches or cellphones with them. The scientists wanted to find

out how living under very unusual and difficult conditions

In a Cave

affects people. Photo by Jeremy Bishop

From Pexels, photo 2397414

10 II

50 meters deep underground, in a dark, cold cave. They had

The volunteers, all between the ages of 27 and 50, lived

several tasks to do while they were in the cave. For example, they had to produce their own
electricity and even find their own water. The scientists in charge of the project used special
equipment to observe the volunteers from a laboratory outside the cave. The most important finding
15 was that all the participants soon lost their sense of time. Without natural light and without watches,
they didn't know whether it was day or night or how much time they spent doing their tasks.
Normally, people wake up in the morning when it is light and go to sleep when it is dark. In the cave,

they went to sleep whenever they felt tired or when they completed their tasks.

III
there for 40 days. Michelle Sagan, for example, thought that she was there for only 19 days.

When the volunteers came out of the cave, they were surprised to learn that they had been
20
It seems that the experiment had almost no negative effects on the volunteers. They only lost their
sense of time while they were in the cave. Very soon afterwards, they got used to their regular

lives again.

IV Hopefully, the findings of this experiment will be used to improve the living conditions of
25 workers who must spend a long time under the ground. And in the future, they can be useful in

planning long journeys into space.
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QUESTIONS (70 points)

n f\'u‘/,‘ Answer questions 1-7 in English according to the text. In questions 4 and 6, circle the number of

 “L3A| the correct answer. In the other questions, follow the instructions.

1. What do we learn in paragraph I?

\
AT

PUT A v BY THE TWO CORRECT ANSWERS.

g4
N
/ «
R

X
)

4
-

....... i)  How long the Deep Time Project lasted.
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S\
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....... i1)  Who gave the experiment its name.
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/
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N

What the purpose of the project was.

XN
W

\
74
-
XN

....... iv) Why people volunteered to participate.

7\

\\

....... v)  How the volunteers were chosen.

/4

\

....... vi) What the participants took with them.

L
. \\\\\

(2x8=16 points)

4'_..‘ / ”, /
sl‘\\}/—

I
-,

YN\
~\\
N

"The scientists wanted to find out how living under very unusual and difficult conditions affects

AY

\%
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people." (lines 7-9)
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Give TWO examples of these unusual and difficult conditions. Take your answers from paragraph I.
P

() ettt ettt e e e e e e ———aaeeeeaa—————aeeeeaaa————taaeeeaa———aaaeeeeaatrraaaeeeeanarrrraaaeen .
A

‘\
SN (2 TSR .
(2x7=14 points)
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What did the participants have to do in the cave? Give ONE task. (paragraph II)

v
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F NN N A = SRS .
(8 points)
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4. What was the most important thing that the scientists found, according to paragraph II?
The volunteers (-).
i) couldn't sleep when they were tired
ii) couldn't complete their tasks
iii) didn't know if it was night or day
iv) didn't find life in the cave difficult

(8 points)

S. The volunteers did not think that they were in the cave for 40 days. Give the example from

paragraph III that shows this.

ANSWER: ..ttt ee e e e e e et ettt e e e e e e e et tae e s e e e e e e e et et e b e e e e e e e e e et ban i aeeeeeeaeeaeeraaas .
(8 points)

6. What happened to the volunteers after the experiment? (paragraph III)
i)  They continued to have no sense of time.
ii) They needed to sleep more than in the past.
iii) The experiment had several negative effects on them.
iv) They got used to their regular life quickly.
(8 points)

7. How can the findings of the project be helpful? Give ONE way. (paragraph IV)

ANSWER: Lottt ettt e et e e e e a b e e e e e s raae e e e s .

(8 points)
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